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INSTRUCTIONS TO THE EXAMINEE

4.

10.

11.

12.

. No Electronic Gadget (Calculator,

. The Question-cum-Answer Booklet comprised

of 40 Questions and cach Question carrying
| (one) mark.

. Bach Question possesses 4 (four) Answer

Options (A), (B), (C) and (D) of which only one
option bears Correct Answer.

. Completely darken the respective circle for your

response as shown below—

Correct method . Wrong method @ ® 0

Each Correct Answer will be credited with
[ (One) Mark.

. If an Examinee attempts more than one Option

for a Question, the attempt will be considered as
WRONG Answer.

. No Mark will be deducted for attempting Wrong

Answer or [ncorrect attempts.

. Only Blue/Black Ink Pen is to be used for

Answering Question,
Mobile
Phone, Laptop, 1-Pad, Camera etc.), Papers
(Other than Admit Card) will be allowed inside
the Examination Hall.

. No Loose sheet will be provided for seribhling

and No Paper is to brought in this purpose. Any
Examinee found with incriminating Documents
in his/her possession— he/she will be Expelled.

All rough work must be done in the page
provided in the Question-Answer-Booklet, and the
said Page of the Booklet must not be torn out.

No Examince will be allowed to leave the
Examination Hall until an Hour has clapsed from
the commencement of the Examination.

As per order of the Executive Council all Answer
Secripts will be preserved for one year from the
date of Publication of Results.
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1. Acclimatization means

(AY a short-term, reversible adjustment to
environmental changes.

(B) a long-term genetic change in a
population in
environmental factors.

(C) Both of the above

(D) None of the above

response  to

2. Birbhanpur is an archaeological site in
(A) Gujarat
(B) Uttar Pradesh

(C) Karnataka
m:st Bengal

3. Homeostasis helps an organism to
(A) adapt to a different habitat.
(B) migrate from one area to another.

(Cr maintain astable internal environment
despite external changes.

(D) All of the above

4. Which process helps organisms to maintain
constant body temperature despite environmental
changes?

(A) Acclimatization
(B) Adaptation

W—lmneostasis

(D) Evolution

5. The tool ‘Burin’ belongs to the cultural
period—
\WUpper Palaeolithic
(B) Mesolithic
(C) Lower Palaeolithic
(D) Neolithic
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6. Which of the following is an example of an
adaptation to cold climates?

Thick fur and far layers
(B) Long migration to warmer regions
(C) Highmetabolicrate for faster digestion

(D) Largebody size for better heat retention

7. Which of the following physiological
changesis mostcommonly observed inindividuals
who adapt to high altitudes overtime?

(A) Decreased red blood cell count

(B) Decreased lung capacity

Mncreﬂsed production of red blood cells
and lung capacity

(D) All of the above

8. Vasodilation is essental for
(A) Heat exposure
(B) Cold adaptation
(C) Hight altitude exposure

; Constriction of blood vessels

9. Primary cause of high-altitude stress is
(A) Lack of oxygen
(B) Extreme cold temperatures
(C) Low atmospheric pressure

M All of the above

10. Which of the following is a common cause
of hypoxia?
(A) Increased red blood cell count

(B) Decreased carbon dioxide levels in
the blood

&) Insutficient oxygen supply to tissues
(D) All of the above
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11. Whattype of marriage involves the marriage
of multiple man to one woman?
Wolyandt‘y
(B) Polygyny
(C)y Monogamy

(D) Group marriage

12. Muarriage practice, a person can have more
than one wife at the same time, known as
(A} Polyandry
‘},B'(Po]ygamy
(C) Endogamy
(D) Monogamy

13. Endogamy as a rule of marriage refers to

(A) Marrying withinaspecific social group
or community.

(B) Marrying outside one’s social group
or community.

\,(,Q(Marriage restricted to royals.

(D) Marriage based on

differences.

religious

14. Which of the following is not a function of
marriage?
(A) Social recognition of offspring
(B) Formation of alliances
&y Ensuring genetic variability through
random selection

(D) Economic cooperation

15. The rule of levirate in marriage means

(AY A widow marries her deceased
husband’s brother.

(B) A man marries multiple sisters.
(C) A marriage conducted without parental
consenlt.

(D) A marriage between individuals of
different tribes.

(5)
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16. ‘Grandmother’ is an example of
(A) Classificatory kinship term
(B) Denotative kinship term
(C) Descriptive kinship term

\p)j/Derivmive kinship term

17. Example of hypergamy is
(A) A person marrying his/her childhood
friend from the same community.,
\lB‘)/A woman marrying a wealthy
businessman from a higher caste.
(C) Amanmarrying someone fromalower
socio-economic background.

(D) A person refusing to marry due to
economic disparity.

18. In a matrilineal family, inheritance and
lineage are traced through

(A) The father’s line
(B) Both parents lines equally

Whe mother’s line

(D) An unrelated person’s line

19. What is a joint family?
(A) A family consisting of unrelated
individuals
(B) A family where only siblings live
together

(" A multi-generation family where

relatives live together
(D) All of the above

20. Which is the function of family?

(A) Regulation of sexual behavior and
reproduction

(B) Descent and inheritance

(C) Socializing children into cultural
norms and values

\(p( All of the above

(6)
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21. Kinship relationships created through
marriage is called

\},M'Afﬁnal kinship
(B) Consanguineous kinship
(C) Tartiary kinship
(D) Secondary kinship

22. Consanguineous kinship based on
(A) legal relationships
‘*B'(blund relations
(C) social alliances

(D) religious connections

23. Kinship systems emphasizes both maternal
and paternal lineages equally is called

(A) Patrilineal
(B) Matrilineal
(Cx Bilateral

(D) Ambilineal

24. Kinship terminology system uses the same
term for both the father's brother and the mother’s
brother, known as

W—Iawaiian
(B) Troquois
(C) Sudanese
(D) Eskimo

25. A kinship system where descent is traced
through the mother’s line is known as

(A) Patrilineal
j Matrilineal

(C) Bilateral

(D) Affinal

(7)
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26. Polytheism refers to
(A) worship of a single God.
\)B{belief’ in multiple Gods or Deities.
(C) the rejection of all Gods.

(D) belief in spirits and ancestors,

27. E. B.Tyloristhe founderof Theory.
( Animism

(B) Animatism

(C) Manaism

(D) Polytheism

28. Shamanism is most commonly associated
with which type of societies?
(A) Industrial
\,(«B"i/Tribal and hunter-gatherer
(C) Urbanized
(D) Feudal

29. The concept of totem refers to
AT An object or symbol representing a
group’s spiritual ancestor.
(B) A strict prohibition against certain
actions or behaviors.
(C) A belief in multiple Gods.
(D) All of the above

30. The concept of a taboo, related with
(A) wearing traditional clothing.
(B) worshiping in a communal space.
(C) celebrating a seasonal festival.
\9)‘)/ éating certain foods considered sacred.
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31. Excavation in archaeology refers to
(A) The study of ancient languages.
U,B—)/Thc process of uncovering and
recording material remains from the
ground.

(C) Mapping geographical locations.
(D) All of the above

32. What is the first step in the archaeological
excavation process?

LAY Identifying and surveying the site
(B) Cleaning and cataloguing artifacts
(C) Conducting carbon dating
(D) Conducting TL dating

33. The sequence of Three-Age Paradigm are
(A) Stone Age, Iron Age, Gold Age
!/LB’)/Stcme Age, Bronze Age, Iron Age
(C) Bronze Age, Iron Age, Modern Age
(D) Stone Age, Copper Age, Silver Age

34. The Iron Age marked as the
(A) first use of agriculture.

o "
development of metallurgy and
stronger tools.

(C) end of prehistoric times.
(D) beginning of human settlement.

35, Full form of GIS is
(A) Geographic Indicator System
Meographic Information System
(C) Geological Information System
(D) Geological Indicator System
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36. Which of the following is a Paleolithic site
in India?
(A) Mohenjodaro
(B) Mehrgarh

Marmada Valley

(D) None of the above

37. The term ‘Revolution” is associated with
(A) Lower Palacolithic period
(B) Chalcolithic period
Neolithic period
(D) Mesolithic period

38. Which tool type is most associated with the
Mesolithic period in India?
(A) Hand axes
(B) Polished tools
(C) Metal tools

\LB’)/M icroliths

39. Bagor(Mesolithic site in India) is located in
\(Ar Rajasthan
(B) Madhya Pradesh
(C) Maharashtra
(D) Uttar Pradesh

40. Neolithic tools were characterized by
(A) rough stone tools
(B) small, sharp microliths
\&) polished and ground stone tools
(D) metal implements

(10)
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